—IHE 1
RDFEMZ & > TED SN DEI {a,} D—MRIHZRD X,

(D a =1, apy1—a,=2
2) ay =3, apy1—a,=2n

—THl e 2

DG L > TED S NDHF {a,) D—HIAZ KD X,

(1) ay = 3, apyl = 3an
(2) ay = 47 apyl — 3= 2(61,1 - 3)

— Tl 3

DG K > TED S ND8F {a,) D—HIAZ KD X,

(D) a1 =2, apy =3a,-2
(2) a; =1, 2a,41 =a,—-2

Ml 4

ar =4, a1 = 6a, + 2" 2 & o TED 5N (a,} D—MRIEE KD &,

[ 5
a1 = 2a, = =TS TED S NB R a,) O —MEFERD X,
2 2a,+3




fi] 8 6
(al =10, =2a,+n—112&>TEDSNBEF {a,) D—M&IEZ KD &,

fid e 7

B {a,) DRIEPSFEnHETOME S, 255, S,=n*+4nTh D L =, ¥l {a,)
D—RIEZ R X,

—IHE 8

MDA & > TED S NBEF] {a,) D—RIEE KD &,
(1) a1 =1,a0 =5,a,:2 — Sap41 +6a, =0
(2) a; =1,a, = 2,a,42 + 3a,41 —4a, =0

Q) ay =1,a, =5, a,42 — 6a,41 +9a, =0

Al 9

ar =1, by =3, ape = 20, + by, bysy = ay +2b, TED SNBEH {a,} £ EH] (b, D3
5, ZDE X, BHla,) B (b, D—MREE KD X,

fIEE 1 0

a; =1, by =3, ays1 = 3a, + by, bpyy = 2a, + 4b, TED 5N EEH] {a,} &£ BH]{b,} 1
b, ZDLE, Bl {a,) &£ BH{b,) D—fEIEERD X,




—fiE 1 1

IRDEMIZ L > TRED 5 NBEF] {a,) D—RIEE KD &,
(1) a; =1, (n+2)a, = na,
@) a1 =5, @y =221

2n+3 Gn
(3) ay =1, (n+3)ay. = 2na,

—HEE 1 2

a1 =—l,au = +2n-a,-2 (n=1,2,3,--) 12 & > TED SNBZE {a,) DB 5.
(1) ar,as, dy ’&5&&5;0
2) —#&¥H a, KD X,

Ml 1 3

2a, + 1

30 14 IZ& o TED S NDEI {a,) D—fEEHZ KD X,

ay =1l,a,11 =




